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sk [ EEIREE ] skblkkekk

No. 1 2 3 5 it ¥HIE
E F 4 CSRP CSRP CSRP CSRP CSRP [} iv2
1 Wi BZ sk koo kekok kkkok kkkk 200 1 P
2 BilkE  ERh * Fokkk kK 7 17
3 K¥E EBFE sk sokokk sokkok sokkok kkkk 200 1 P
4 BagR  FO4E x ok * 3 9
6 =ik A * 1 10
T A iF sk ok kdokk kk ok kdokk 18 4 P
8 &% REZ * % * * 4 8
9 mEE HAXK sk dokkok soktok okt kkkk 18 4 P
10 §8)Il HK&E * K Rk % * skkkk 10 6 P
1M EH Hth sk okk kkkk kkkk kkkk 10 3 P
T =% = 10

sorordork [ FR B ] kekokkokk

NO. E F 4 1 2 3 5 7 JEfL
i B Cha cha
1 Mg B= 2 1 5 1 4 2.0
3 XK¥E BF 1 2 3 2 2 1.0
1 AH B 4 4 4 5 5 50
9 WEE EAXK 5 3 2 4 1 4.0
10 %Il HE 6 6 6 6 6 6.0
11 Ex =Hih 3 5 1 3 3 30
7 H Samba
1 Mg B= 2 1 5 3 4 3.0
3 X¥E BF 1 2 3 1 1 1.0
7 B F 3 5 4 5 5 50
9 WHEE EAXK 5 3 1 2 2 20
10 %Il EHE 6 6 6 6 6 6.0
11 Ex& =Hih 4 4 2 4 3 4.0
7 H Rumba
1 Mg B= 2 1 5 3 5 3.0
3 XK BF 1 2 3 1 2 1.0
1 AH B 3 4 4 5 3 40
9 WEE EAXK 4 3 1 4 1 20
10 %Il EHE 6 6 6 6 6 6.0
11 Ex =Hih 5 5 2 2 4 50
i B Paso doble
1 #AUl 2 1 5 1 3 20
3 X5 f§$ 1 2 3 2 1 1.0
1 AH B 3 6 4 3 5 50
9 WEE EAXK 5 3 1 5 2 3.0
10 %Il EHE 6 5 6 6 6 6.0
11 Ex =Hih 4 4 2 4 4 4.0
i B Jive
1 Mg B= 1 1 5 2 3 20
3 XK BF 3 3 2 1 2 3.0
7 ¥ E 2 6 4 4 4 40
9 WEE EAXK 4 2 1 3 1 1.0
10 %Il EHE 6 5 6 6 6 6.0
11 Ex& =Hih 5 4 3 5 5 50
BERER
No. # F £ C S R P J &t B
1 M®g B= 2.0 3.0 3.0 2.0 2.0 1220 3.0
3 Kz EF 1.0 1.0 1.0 1.0 3.0 7.0 1.0
1 AH 5,0 5.0 4.0 5.0 40 23.0 5.0
9 WEE BEAXK 40 20 2.0 3.0 1.0 120 2.0
10 %@l EE 6.0 6.0 6.0 6.0 6.0 30.0 6.0
11 EM =248 3.0 40 50 4.0 50 21.0 4.0
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